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El automévil es el medio de transporte que més impactos provoca, que resulta més caro, y el que més
energia consume. Puede ser il para trayectos muy especificos que no sean cubiertos por ninguna
linea de transporte piiblico o para recorridos de puerta a puerta —para transporte de personas con
problemas de moviidad, o cuando sea necesario desplazar objetos pesados—, asi como para trayectos
que deban realizarse a una gran velocidad por razones de urgencia. El coche, fuera de atascos, es un
medio répido y flexible, ya que atiende unicamente a los deseos de su conductor

El principal problema del coche radica en su uso generalizado y desmesurado, que provoca la
‘congestion e ineficiencia de todo el transporte viario. La ampliacion de viario, la receta habitual ante
situaciones de congesticn, la mayor parte de las veces sdlo supone un empeoramiento de los
problemas a medio plazo.

Contribucion del automévil a los diferentes impactos

El automévil es el medio de transporte que mas energia consume por persona transportada y kildmetro
recorrido, ya sea para tasas de ocupacién méximas o tasas de ocupacion reales (gréfico 1)
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Este elevado consumo de energia, que lo sitia o
‘como el medio de transporte més ineficiente, es la.
causa de sus mayores impactos y de su mayor
coste econdmico, tanto para el usuario como para
la sociedad
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Grafico 1. Fuente: A. Estevany A. Sanz, 1996:
Hacia la reconversién ecologica del transporte. La
Catarata, Madrid.
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La contaminacion del aire es producida sobre todo por los medios que emiten gases X
de escape en el interior de las ciudades y depende de la energia de traccion
consumida. El automovil es el medio que mas energia de traccion consume: cuatro
Veces més que el autobls para el mismo numero de viajeros. Se situa asi como
principal foco emisor y principal responsable de la contaminacion del aire en las
ciudades. Los automoviles son responsables del 80% de emisiones de NO2 debidas
al tréfico y del 60% de emisiones de particulas|
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Air pollution is caused mainly by the media that emit exhaust gases in the inner cities
and depends on the energy consumed traction. The car is the means more traction
energy consumption: four times the bus for the same number of travelers. It is situated
well as main emitting source and primarily responsible for air pollution in ciies. Cars
are responsible for 80% of NO2 emissions from traffic and 60% of particulate
emissions
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OUR PROBLEM WITH CARS

The urban expansion, the increase of mechanization, the necessity to go out for work, all this
activities has made that our cities or towns doesn't be a safe place for our health

The main problem with the car lies in its widespread and excessive use, which causes
congestion and inefficiency of the entire road transport. The expansion of road, the
common recipe in situations of congestion, most of the times only implies a worsening
of the problems in the medium term.

The total energy consumption of the car - including the consumption of construction

of the vehicle, the infrastructure and the maintenance of the same- to rates of actual
occupation is almost double that of the vicinity and the subway, and more than four
times that of the bus.

This high energy consumption, which places it as the means of transport more
inefficient, it is the cause of their biggest impact and greater economic cost, for both the
user and for society.

It is also the cause of their biggest impact on a global scale: a contribution to the climate
change and impacts related to the procurement and distribution of energy - oil - it
consumes and exhausts.
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Air pollution is produced mainly by the transport that emit polluting gases in the inner
cities and depends on the energy consumed for traction. The car is the means by which
more traction energy consumes: four times more than the bus for the same number of
passengers. It is located as well as main focus issuer and primarily responsible for the
air pollution in the cities. Automobiles are responsible for 80% of emissions of NO2
due to traffic and 60% of particulate emissions.

Exposure to air pollution at current levels of contamination causes serious effects on
the health of the people: irritation of eyes, mucosal surfaces and lungs, increases in total
mortality, mortality from respiratory and cardiovascular illness, loss of lung function
and risk of lung cancer incidence.

These pollutants are more harmful for the weakest people: the elderly, children and
asthmatics people or people with breathing problems are the most sensitive.

The result is that in the Spanish State more than 18 million people (35 million
evaluated) live in places with polluted air and produce 16,000 premature deaths a year
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associated with air pollution .

The urban surface dedicated to the car is between 20 and 30% of the total, reaching on
urbanisations of new construction percentages of 40 %. This proportion of urban space
occupied is divided between the dedicated to parking and the employee for the
movement of vehicles.

The private car is the mode of transportation that occupies more space, by the time
that remains stationary: about 90% of the time (20-22 hours a day) and by the largest
amount of space you need for circular.

Traffic accidents are virtually all of the accidents due to transportation, and of these,
the car is proportionally the means that more dead and wounded sheds on the
population.

In the Spanish State traffic accidents are currently the fifth most frequent cause of
death, behind only the cardiovascular diseases, neoplastic, the respiratory and digestive
system. But the fact is that, in addition, the traffic accidents are fattened mainly among
the young population: each day four young people die in traffic accidents, becoming the
first cause of death among young people, in front of the aids and drugs. In fact,
represent the main cause of death for people under 39 years.

This important claims presents a strong urban impact: more than half of the total
number of accidents in the cities. The number of injured in traffic accidents in city is
approximately 50 %, as did the deaths by outrage.

The car with their high space requirements and their low occupancy rates is positioned
as the main responsible for the urban congestion, the known traffic jams.
The jams not only produce a significant loss of time that the people should subtract
from other activities, in addition to a condition on your mood, but they also have a
strong economic impact. To measure that increases the use of the car, they increase the
road congestion and with it decreases the average traffic speed, reaching levels so low
that override the main competitive advantage of the car as a means of transport.

The current form of move in many cities where the private automobile has a excessive
activism is the cause of the excessive noise which stuns cities: 80% of urban noise is
due to traffic. In fact the tram generates 46 times less noise than cars and buses 11 times
less than the equivalent number of cars.

In addition, the car has a negative effect on public transport and on the non-motorised
means. The impact on the public transport is due to the large amount of public space it
consumes and the congestion that occurs.

The conclusion is that cars are harmful to public transport, this by transporting more people are
more enviromental friendly. The abusive use of cars harm our healh in all aspects. So my personal
opinion is that we use public transport when we can and at this way we help to keep our city free of
pollution and neighbors.
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